Linear Inequalities LI7

Multi-Step Inequalities Day 2

Extra Practice

" Write and solve each inequali?y.

1. A crate weighs 6 kg when eynpfy A lemon weighs about 0.2 kg. For econom:cal shipping the crate
with lemons must Weng cz‘r least 45 kg) How tmany lemons should be put in the crate?
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2, /Jlug e.is. Ia}/mg in a basketball fournament and scored 24 points in her first game. If she gverages

over 20 p0| Y& for boTh games, she will receive a trophy. How many points can Jillene score in the
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3. Bink brought $23 with her‘ to the county fair. She purchased a $?’ree shirt ;'{:now wants to
purchase plants for $2.50 each. What number of pian‘rs can she purchase with her money?
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between 20 and 32, what are the possible values for the Th:r‘d side?

W\ CoOMpounsl  pZinna 4R
2 20 <49 T+A+X)< 32 @@y&\Q
I +X < 32 —
s 22k D (e
| Yy < scnzi. o

5. Ms. Cramer took her dog Snickers to the vet. The veterinarian wants Smcker's to weigh between 62
1Ibs and 68 Ibs. Snickers currently weighs 74 Ibs. Ms. Cramer thinks that Snickers wnlw) -2

ggounds a wee@hen they go jogging. Which inequality represents how many weeks Ms. Cramer needs
to jog with Snickers to achieve the goal weight? Mg wieeke S

b. 62 <2x-74<68

c. 62 <T4-x<68 @22<74-2x<6§ )
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Linear Inequalities LI7 .
Solve and graph each mequa!:Ty

8. 3-2(x+4)>3  ,peck |9 1803 +2xs6
B-2%-§ 73 e S\ [Iu-Bb+Ixil
VY 2= 5‘7 3 32 (A3, 1y ""':Z% 4 -f% 3

%-2(-) 23

\Jouiables onone srde
"j, CinmsAdnts om The 8-
4 -3dem+e  ChedK
4’%‘5 } Wz" mZ OIJA
-3 & Gt Lypnd
_gem -3¢0V
._,.T, Z =M OR
mz "’.’lu 6
o—F
3 -8 - 0

Benedict, Ricardo, and Charlie are considering opportunities for summer work. The table below shows

the jobs open to them and the pay for each. Use this information to answer the following questions.

Job

Pay

Mowing Lawns

$15 per lawn

Baby-Sitting

$5.50 per hour

$9 per session

Tutoring

11. Benedict has saved $91 from last year and would like

to baby-sit To earn enough te buy a mountain

bike. A good quality bike costs(at least $300,) What number of hours / can Benedict baby-sit to

reach his goal? 2 200
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13. Charlie has agreed to mow his neighbor’s laws once a
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week’t;i will a?o bagy sit some hours. If he
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maked $100 or more each week) his parents will charge him rent. How many hours 4 should Charlie
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agree to baby-sit each week to avo;_cj paying rent:
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